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Bl MAIN FEATURES OF ROTARY SLIDE RULE

% The watch is not a measuring instrument.
Please note that the flight data that its rotary slide rule gives.
This rotary bezel type slide rule is designed conversion of various essential
flight data required by pilots. With this rotary slide rule, unit conversion.
@® Conversions of various units such as distance conversion, fuel volume
conversion and weight conversion can be performed.

ll DESCRIPTION OF SCALES

M METHOD OF CONVERSION

For pilots, the conversion of distance, fuel quantity, weight and various other
quantities used in navigational computation from one system of units to another
is important. This rotary slide rule is equipped with convenient conversion
scales to facilitate this job.
Typical examples of conversions
<Distance conversion>
- Nautical miles [NAUT] & Statute miles [STAT] ¢ Kilometers [KM]
<Fuel volume conversion>
- US gallons [US GAL] © Imperial gallons [IMP GAL] © Liters {LITER}
<Weight conversion>
- Pound [LBS] ¢ Kilograms [KG]
<Fuel volume-to-weight conversion>
- Fuel pounds [FUEL LBS] < US gallons [US GAL] < Imperial gallons [IMP GAL]
- Oil pound [OIL LBS] & US gallons [US GAL] < Imperial gallons [IMP GAL]

DESCRIPTION OF MARKINGS ON THE ROTARY SLIDE RULE

Classi- . .
fication Marking Explanation
NAUT. Abbreviation of nautical mile : 1 NAUT = 1.852 km
STAT. Abbreviation of statute mile : 1 STAT = 1.609 km
Distance
KM. Abbreviation of kilometer : 1 KM = 3.280 feet
FT. Abbreviation of feet
1 liter = 0.254 US gallons
LITERS ) ]
= 0.22 imperial gallons
Abbreviation of US gallon : 1 US GAL = 0.833 imperial gallons
Fuel U.S.GAL
= 3.78 liters
Abbreviation of imperial gallon: 1 IMP GAL = 1.2 US gallons
IMP.GAL.
= 4.545 liters
KG. Abbreviation of kilogram : 1 KG = 2.22 pou
Weight

/

@ Conversion between nautical miles, statute miles and kilometers

miles/Kilometers

@®Nautical miles — Statute

®Statute miles - Nautical
miles/Kilometers

©XKilometers — Statute
miles/Nautical miles

miles

— ? statute miles
— ? kilometers
[Solution]

scale.

is 4.03.

is 6.48.
[Answer]
40.3 statute miles
64.8 kilometers

[Problem] 35 nautical

@ Adjust the 3.5 on the
rotary ring in line with
NAUT index on the fixed

@Find the value on the
rotary ring corresponding
to the STAT index on the
fixed scale. The reading

® Find the value on the
rotary ring corresponding
to the KM index on the
fixed scale. The reading

[Problem]

40.3 statute miles

— ? nautical miles

— ? kilometers

[Solution]

@ Adjust the 4.03 on the
rotary ring to STAT
index on the fixed scale.

®Find the value on the
rotary ring that
corresponding to the
NAUT index on the fixed
scale. The reading is
3.5.

®Find the value on the
rotary ring that
corresponding to the KM
index on the fixed scale.
The reading is 6.48.

[Answer]

35 nautical miles

B64.8 kilometers

[Problem] 64.8 kilometers

— ? statute miles

— ? nautical miles

[Solution]

@ Adjust the 6.48 on the
rotary ring to KM index
on the fixed scale.

@ Find the value on the
rotary ring that
corresponding to the
STAT index on the fixed
scale. The reading is
4.03.

®Find the value on the
rotary ring that
corresponding to the
NAUT index on the fixed
scale. The reading is
3.5.

[Answer]

40.3 statute miles

35 nautical miles

@ Conversion between US gallons, imperial gallons and liters

— ? Imperial gallons
— ? Liters
[Solution]

reading is 3.5.

reading is 1.59.
[Answer]
35 imperial gallons
159 liters

@ Adjust the 4.2 on the
rotary ring to US GAL
index on the fixed scale.

@ Find the value on the
rotary ring corresponding
to the IMP GAL index on
the fixed scale. The

®Find the value on the
rotary ring corresponding
to the LITERS index on
the fixed scale. The

— ? US gallons

— ? Liters

[Solution]

@ Adjust the 3.5 index on
the rotary ring to IMP
GAL on the fixed scale.

®@Find the value on the
rotary ring corresponding
to US GAL index on the
fixed scale. The reading
is 4.2.

®Find the value on the
rotary ring corresponding
to the LITERS index on
the fixed scale. The
reading is 1.59.

[Answer]

42 US gallons

159 liters

®US gallons - Imperial ~ ®Imperial gallons»? US ~ ©lLiters»US
gallons/Liters gallons /Liters gallons/Imperial gallons

[Problem] [Problem] [Problem]

42 US gallons 35 Imperial gallons 159 liters

— ? US gallons

— ? Imperial gallons

[Solution]

@ Adjust the 1.59 on the
rotary ring to LITERS
index on the fixed scale.

®@Find the value on the
rotary ring corresponding
to the US GAL index on
the fixed scale. The
reading is 4.2.

®Find the value on the
rotary ring corresponding
to the IMP GAL index on
the fixed scale. The

reading is 3.5.
[Answer]
42 US gallons

35 imperial gallons

@ Conversion of fuel pounds and oil pounds to US gallons and imperial gallons

Imperial gallons

@Fuel pounds — US gallons/

®0il pounds — US gallons/

Imperial gallons

— ? US gallons
— ? Imperial gallons
[Solution]

2.18.

1.82.
[Answer]
2.18 US gallons
1.82 imperial gallons

[Problem] 13.1 fuel pounds

M Adjust the 1.31 on the rotary ring to
FUEL LBS index on the fixed scale.

@ Find the value on the rotary ring
corresponding to the US GAL index
on the fixed scale. The reading is

® Find the value on the rotary ring
corresponding to the IMP GAL index
on the fixed scale. The reading is

[Problem] 16.4 oil pounds
— ? US gallons
— ? Imperial gallons

[Solution]

2.18.

1.82.
[Answer]

@ Adjust the 1.64 on the rotary ring to
OIL LBS index on the fixed scale.

@ Find the value on the rotary ring
corresponding to the US GAL index
on the fixed scale. The reading is

® Find the value on the rotary ring
corresponding to the IMP GAL index
on the fixed scale. The reading is

2.18 US gallons
1.82 imperial gallons
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